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Prime polynomial

Irreducible »
Constant »
Null »
Reciprocal »
Normal »
Unity »

Decfined domain
Ring

Quotient
Exact quoticnt
Lincar
Khayam
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Binomial
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Relationships betwee: the roots and coefficients

Radical Ny — JKosly
Reduction of an indeterminate form Pladl x
Reduction of an improper fraction S8
Undetermined coefficients Canali Slaw o sy
Root (nth root of a number) (34 & »ln dyy) 4l
Root, Zcro (of a polynomial) (Slahandin i) alyy
Multiple root s 42y
Simple root ol Xy
Root, Zero, of a fraction S Ay
Radical R S
Double root waebae diy)
Determination of roots uab-w)
3
Even z3)
Subring ul,.),)
Subset AL gares )
h" .
Reduction, Simplification 05 S esle
Reduced ot o3l
Irreducible PRSI
Consistent (system) (oK2u5) 4B 5l
Indeterminate, Diophantine (wY3las olKans csbie) b

(equation, system of cquations)
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Condition b
Sufficient conditjon b2
Necessary  « Y by

Necessary and sufficient condition SN b,
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Conditional
Index

Schywartz

Zcro
Numcrator ([raction)

Multiplication
Coefficicnt

E;(pression
Analytic expression
Algebraic »
Entire »
Mathematical »
Fractional »

Proposional »
Rational »
Symmetric  »
Defined »
Undcfined »
Exponential »
Homogeneous »
Element
Neutral element
Reciprocal operation
Sign, Symbol |
Symbolic
Operation
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Non-symmetrical

FFactorizing
Odd
Vector space

G

Syllogism law
Absolute value
Symmetry

Pole of fraction

Complete (Polynomial)
Fraction

Cauchy

Least common multiple

Irrational, Surd
Rational
Rationalizing

Lagrange
Logarithm
Lemma

Maximum

Absolute maximum and minimum
Indeterminate, Ambiguous
Homogeneous

Identical

Identical to zero

$er Slivls /vy
Oylaali — O)laze ;6

S5 a5
58
SHlsn lai

ol Ol

k}lh.c)-\;

(Slakesaza) Jot

iy

-

D den e 2555 S

(S SlEisls) dnte

JU IR PREY S



L L3 SRR L PRAPRY - JCURT

Similar (terms)
Variable

Symmetric (algebraic expression)
Proportional (polynomials)

Arithmetic triangle

Triangular (inequality)

Set

Alkharazmi
Complex
Denominator
Ordering
Conjugate
Problem

Sample problem
Independent of
Multiple
Equivalent
‘Equation
Reciprocal (term)
Defined
Restitution
Comparison
Numerical value
Constant term
Exact value
Divisor
Imaginary (number)
Minkowski
Minimum
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Inequality

Triangular inequality
Incomplete (polynomial)

Non-symmectrical

Incquality
Undefined

Normal (polynomial)

Ratio

Theory of cquations
Exponent

Symbol

Structure

Newton

Average, Mean

Harmonic »
Arithmetic »
Square »
Gravity »
Geometric »
Viéte
Weierstrass
Holder
Identity
Conditional identit
Equivalent

Complex (number)
Homogencous
Universally valid
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Field
Commutative field

Notice
Note
Monomial
Unitary
Jensen
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